Memory (KiB)

Memory to solve an instance
(UNSAT answers, category OPT-SMALLINT-LIN)

1.6e+06

T T T T T T
sees00000000000000000-RR0RRRRIO0E0 bsolo 3.2 Card —+—
bsolo 3.2CI -
- + i pb_cplex 2010-06-29 ---*---
1.4e+06 PB/CT 0.1 fixed =

| SAT4J PB CuttingPlan
SAT4JPBRES//CP2 -0 -
1.2e+06 | 1  SAT4J PB Resolution -

| SCIPclp SCIP 1.2.1.2 4~
SCIPnone SCIP 1.2.1. —»—
SCIPspx SCIP 1.21.2 — <
SCIPspx SCIP 1.2.1.3 ---v---

1e+06 -

800000
|

600000

400000

200000

0 5 10 15 20 25 30 35
number of solved instances



